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Ideals for irreducible component#ﬂ)f Xpar

I = (W + e+ = 2u—1)

* 1 irreducible components of dim¢ = 0, with total 32 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(w?4+u +... —2u—1)

(i) Arc colorings

w- (1)

1
ag = 0
1
as = _u2
U
ar = \ —ud +u
—u3
a3 = \ud —ud+u
ud
ain = (ud + u)
wb —ut+1
a7 = \ —y 4 2u* — u?
w —2uT + U+ 2u —u
a0 =\ —u?+3u" -3 +u
w'? — 300 + 308 +2u8 —dut +u? 4+ 1
ag = —u'? + 4u'0 — 6ud + 2u8 + 3ut — 2u?
—u20 4+ 518 — 11018 + 10u!* + 202 — 13ul® 4+ 9u® + 2u8 — Sutr + w2 + 1
ag = u?? — 6u?0 + 17u'® — 2616 + 20u'* — 13u'0 + 10u® — 3u’ + 2u* — u?
—U26+7’UJ24+"'+U2+1
ag = (426 — 8u24 4 ... — 2% — 2
w2 T 241
ay = u26—8u24—|—---—2u4—u2
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4u3t — 400 — 4u?8 + 184u?" 4 36126 — 484u?° — 148u>* + 728u?3 + 340u?? — 420u>! —
420620 — 5560 4+ 116u'® + 1316u'™ + 44406 — 872u™® — 652u'* — 292u!'3 + 236u'? +
7720t + 2440410 — 316uY — 260u® — 124u” + 36w’ + 116u® + 44u* — 4u® — 1202 — 120 — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w4 —2u—1
C2 w3 4+ 19u3t 4 - 8u? + 1
c3,C8,Cy W 2 —1
C4 w3+ 3ut -+ 2020 4 77
067‘37’2‘1) u?? +3uPt - 16w+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs 32 =193 o =8y 1
C2 32 =113 o — 16y + 1
c3,C8, Co Y32 =313 - —16y7 + 1
Ca y*? — 1993 + - .- — 95320y + 5929
Ce, C7,C10 y32+41y31 Lo 112y+1
C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.868634 4 0.4321151

—3.34862 + 4.043701

—6.04453 — 7.135191

u = —0.868634 — 0.4321151

—3.34862 — 4.043701

—6.04453 + 7.135191

u= 1.04533

—6.54630

—13.9220

= —0.026700 + 0.9179361

~
IS

—14.7670 — 5.60871

—9.35181 + 2.839911

u = —0.026700 — 0.9179361 —14.7670 + 5.60871 —9.35181 — 2.839911
u= 0.012118 + 0.9017861 —8.30499 4 2.262671 | —6.08064 — 2.916561
U 0.012118 — 0.9017861 —8.30499 — 2.262671 | —6.08064 + 2.916561
u = —1.083140 + 0.3417121 —3.37831 4 1.668241 | —9.56243 — 0.351461
u = —1.083140 — 0.3417121 —3.37831 — 1.668241 | —9.56243 4 0.351461
u = 1.076920 4 0.4233151 —2.77345 — 5.109821 | —6.71803 + 8.182021
u= 1.076920 — 0.4233151 —2.77345 4 5.10982] | —6.71803 — 8.182021
u= 0.756512 + 0.3509261 0.83897 — 1.641341 1.45053 + 5.739601
u= 0.756512 — 0.3509261 0.83897 + 1.641341 1.45053 — 5.739601
u = —0.804096 —1.07276 —10.5910

u = 1.157410 + 0.3143301 —9.45578 4 0.502387 | —13.25888 4 0.222651
u = 1.157410 — 0.3143301 —9.45578 — 0.502381 | —13.25888 — 0.222651
u = —1.110460 + 0.4634621 —8.33031 4 8.057471 | —10.74797 — 7.464641
u = —1.110460 — 0.4634621 —8.33031 — 8.057471 | —10.74797 4 7.464641
u = —0.163704 4 0.6698111 —5.64755 — 3.792861 | —7.65510 4 3.798911
u = —0.163704 — 0.6698111 —5.64755 4 3.792861 | —7.65510 — 3.798911
u = —0.522402 + 0.4269321 —2.44365 — 0.318451 | —3.24811 — 0.204711
u = —0.522402 — 0.4269321 —2.44365 4 0.318457 | —3.24811 + 0.204711
u = —1.267860 + 0.4641641 —12.21500 + 2.583521 | —9.43681 — 0.147521
u = —1.267860 — 0.4641641 —12.21500 — 2.583521 | —9.43681 4 0.147521
u = 1.263650 + 0.4774391 —12.11660 — 7.177551 | —9.14770 4 5.863891
u = 1.263650 — 0.4774391 —12.11660 4 7.177551 | —9.14770 — 5.863891
u = —1.268830 + 0.4884641 —18.5604 4 10.62751 | —12.35486 — 5.782141
u = —1.268830 — 0.4884641 —18.5604 — 10.6275] | —12.35486 + 5.782141
uw= 1.280210 + 0.4581891 —18.7882 4 0.73781 | —12.72584 4 0.134381
u= 1.280210 — 0.4581891 —18.7882 — 0.73781 | —12.72584 — 0.134381




Solutions to I}

V=1(vol + /=1CS)

Cusp shape

u =

0.144298 + 0.5277941

—0.269618 4 1.3334901

—2.86164 — 5.197561

u =

0.144298 — 0.5277941

—0.269618 — 1.3334901

—2.86164 + 5.197561




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs5 w4 - 2u—1
C2 u?? + 19u3 + - —8u? + 1
€3, C8, Co T |
C4 w3+ 3ut -+ 202u 4 77
C6,C7,C10 w32 363 o+ 160+ 1
‘1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs Y32 — 19y . —8yP + 1
C2 2 — 11yt o — 16y + 1
c3, Cs, Co 32 =313 4 — 162 + 1
Ca y*? — 19y + .- — 95320y + 5929
06,07,2(1) y32+41y31+“._112y+1




